L2(19).2 (mod 2)

blocks | defect | matrix
2.G: 1 4 8 x 2
2 3 8 x1
3 3 8 x1
4 2 4 x1
5 2 4 x1
6 2 4x1
7 2 4 x1
Block 1: | p10 o+
Ii=x1,0 1
12 = X171 1 .
181 = x24 1 -
191 = Xs8,0 1 1 $1,0 ;
19 =xs1| 1 1 v
209 = X13+ 2 1
1810 = X150 1
1811 = x15,1 1
Block 2: | ¢4
182 = x40 1
183 = x4,1 1
186 = Xs6,0 1
187 = x6,1 1 w10 = 18
1812 = Xx16,0 1
1813 = Xx16,1 1
1816 = x18,0 1
1817 = x18,1 1




Block 3: | 5
184 = x5,0 1
185 = x5,1 1
183 = x7,0 1
189 = x7.1 1

1814 = X170 1
1815 = x17,1 1
1818 = X19,0 1
1819 = X190,1 1

Block 4: | ¢
201 = X9,0 1
202 = X971 1

2010 = X20,0 1
2011 = X20,1 1
Block 5: | ¢7
203 = X10,0 1
204 = X10,1 1
2012 = X210 1
2013 = X211 1
Block 6: | s
205 = x11,0 1
206 = X11,1 1
2014 = X220 1
2015 = X221 1
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Block 7: | g
207 = X12,0 1
208 = X121 1

2016 = X23,0 1
2017 = X231 1
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